Regles de Division (F)

Trouvez chaque quotient.
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96 =8

96 = 8
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80 + 8
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16 +8
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64 =8

48 + 8
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8+38
32+38
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24 =8
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24 =8
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24 =8

48 =8

64 =8

56 + 8

56 + 8

16 +8

16 =8

96 =8

40 + 8

24 =8

16 +8

80 + 8

32+ 8

48 = 8
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32+ 8

48 =8

32+ 8

48 =8

48 =8
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Regles de Division Solutions (F)

Trouvez chaque quotient.

16 -8=2
80 +8 =10
8 +8=11

48 -8 =10

96 +~ 8 = 12

96 +~ 8 = 12

48 -8 =06

40 + 8

80 +8 =10

40 + 8

32+8=4

64 + 8

D

8

96 +8 = 12

5

80 +8 =10

40 + 8

24+-8=23
80 -8 =10
88 -8 =11

88 +8=11

96 +8 =12

32+8=4
32+8=4
2+8=9
2+8=9
96 8 = 12

80 +8 =10
88 +8=11

80 +8 =10

16 -8 =2
48 -8 =10

48 -8 =06

64 +8 =28

8+8=1
56 +-8=7
16 -8=2
72+-8=9
32+8=4
24+-8=23
56 +-8=7

40 +8 =5

16 -8 =2
48 -8 =06

8+8=1
32+8=4
24+-8=23
24 +~8 =3

48 -8 =10

96 8 = 12

56 +-8=7
6=8="7

24 +-8=23
32+-8=4

48 -8 =10

16 -8=72
64 +-8=28

56 +8=7
96 +~ 8 = 12

16 -8 =2
24+-8=23

16 -8 =2
16 -8 =2

48 -8 =0

32+8=4 80 +8 =10

8+8=1

16 -8

24+8=3

40 + 8

8§+8=1

40 =8

2

64 +8=238
40 -8 =95

5

96 +8 =12

5

8 +8=11

80 +8 =10

16 -8 =2
48 -8 =10

4
48 -8 =06

32+ 8

48 -8 =10
40 =+ 8

4

64 +-8 =28
24 +-8=3
64 +8=238
16 +8=2

40 =8

32+ 8

5

48 -8 =606

64 +8=28
96 +~ 8 = 12

16 -8=2
56 +8=7

A48 -8 =06

48 =8 =0
72+-8=9

48 -8 =0

24 +8=3

56 +8=7

8+8=1

5

8+8=1
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